
PTUNING | 9432 Center Point Lane | Manassas, VA 20110 | 1-877-PTUNING | 703-257-1728 | Ptuning.com | REV 1.2 

 

 

 

 

INSTALLATION INSTRUCTION FOR ADJUSTABLE FRONT LICENSE PLATE RELOCATION KIT 
 

PTP-EXT-15005 (13-14 SCION FR-S | SUBARU BRZ) (2015 SUBARU 
STI/WRX SEDAN) 

PTP-EXT-15021 (SCION tC1) 

PTP-EXT-15031 (08-12 SCION xD) PTP-EXT-15041 (2011-2013 SCION tC2 | SCION xB2) 

PTP-EXT-15111 (LEXUS ISF) (2008-2012) PTP-EXT-15061 (SCION xD) 

PTP-EXT-15211 (NISMO 370Z) PTP-EXT-15101 (LEXUS IS250 | LEXUS IS350 | 2014 ISF) 

PTP-EXT-15301 (08-14 SUBARU WRX | SUBARU STi | 05-11 LEGACY) PTP-EXT-15201 (INFINITI G37 | NISSAN 370Z) 

PTP-EXT-15051 (2014 SCION tC2) PTP-EXT-15221 (NISSAN R35 GTR) 

 
Kit Contents: 
(1) Billet Steel Tow Bolt 
(1) License Plate Pivot Bracket 
(1) Aluminum License Plate Mounting Bracket 

(1) M10x1.5x80mm or M10x1.5x50mm Low-Head Socket Head Cap Screw 
(2) M8x1.25x12mm Low-Head Socket Head Cap Screw 
(4) M6x1.0x8mm Button Head Cap Screw 

 

Installation Instruction: 
1) Remove the plastic cover for the factory tow bolt hole on the front bumper and store away for future use. 
2) Apply some anti-seize lubricant to the thread of the tow bolt. 
3) Using a 22mm socket or wrench, screw the supplied billet tow bolt into the tow bolt opening and torque it to 20-25 ft/lb. 
4) Install the pivot bracket onto the tow bolt using the supplied M10x80mm socket head cap screw. Initially, screw the cap screw into 

the tow bolt by hand to avoid cross-threading.  Position the bracket at the desired angle by holding the license plate against the 
pivot bracket. Using a 6mm allen wrench, torque the cap screw to 10-12 ft/lb. 
 
NOTE: The M10 cap screw will engage the thread on the tow bolt once it’s inserted into the bottom of the large 5/8” hole. 
 

5) Place the license plate mounting bracket over the pivot bracket and align the center hole on the license plate bracket with the 
threaded hole on the pivot bracket.  Optionally, you can use any of the slotted holes on the license plate bracket if you wish to 
mount the plate off-center from the tow bolt.  

6) Position the license plate so that it is parallel to the ground.  Next install the M8 external tooth lock washer and finally the M8 
button head cap screw.  Using a 6mm allen wrench, torque the cap screw to 8-10 ft/lb. 

7) Place the license plate on the license plate bracket and using the supplied M6 cap head screws, secure the screws using a 4mm 
allen wrench. 

  

 
 

 

http://www.ptuning.com/default.cfm

